

Bid No. 2017-5

# Columbia County Board of County Commissioners

SW Old Wire Road

Bid Opening 9/22/17

Company Name	Amount
Anderson Columbia	\$2,369,405.00
C. A. Boone	\$2,453,300.00
Curt's Construction	\$2,568,309.18

**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS**  
**COLUMBIA COUNTY PROJECT NUMBER 2017-5**  
**SW OLD WIRE ROAD – Roadway Construction**

SW Old Wire Road					
Pay Item No.	Pay Item Description	Quantity	Units	Unit Price	Total Cost
0101 1	Mobilization	1	LS	\$173,060.00	\$173,060.00
0102 1	Maintenance of Traffic	1	LS	\$73,831.00	\$73,831.00
0104 10 3	Sediment Barrier	17,364	LF	\$1.43	\$24,830.52
0104 18	Inlet Protection System	5	EA	\$115.52	\$577.60
0110 1 1	Clearing & Grubbing	27	AC	\$3,974.75	\$107,318.25
0120 4	Subsoil Excavation	7,921	CY	\$11.69	\$92,596.49
0120 6	Embankment	21,513	CY	\$1.88	\$40,444.44
0120 71	Regular Excavation (3-R Projects Only)	1	LS	\$294,608.42	\$294,608.42
0160 1	Commercial Stabilizing Material	4,292	CY	\$1.00	\$4,292.00
0160 4	Stabilizing Roadway and Shoulder	77,200	SY	\$0.76	\$58,672.00
285704	Optional Base, Base Group 04	48,981	SY	\$6.95	\$340,417.95
0286 1	Turnout Construction	4,661	SY	\$14.61	\$68,097.21
0334 1 12	Superpave Asphaltic Conc, Traffic B	7,008	TN	\$98.63	\$691,199.04
400 1 2	Concrete Class I, Endwalls	2	CY	\$1,733.05	\$3,466.10
0425 1521	Inlets, DT Bot, Type C, <10'	5	EA	\$4,372.09	\$21,860.45
0430174118	Pipe Culvert, Optional Material, Round, 18" SD	2,200	LF	\$29.11	\$64,042.00
0430175118	Pipe Culvert, Concrete, Round, 18"S/CD	818	LF	\$44.38	\$36,302.84
0430175124	Pipe Culvert Concrete, Round, 24"S/CD	512	LF	\$50.18	\$25,692.16
430982125	Mitered End Section, Concrete, Round, 18" CD	18	EA	\$849.13	\$15,284.34
0430982129	Mitered End Section, Concrete, Round, 24" CD	16	EA	\$969.73	\$15,515.68
0430984125	Mitered End Section, Optional Round, 18" SD	96	EA	\$674.49	\$64,751.04
430991	Mitered End Sec, Replace Slab	1	EA	\$462.08	\$462.08
0524 2 2	Concrete Slope Pavement, Non reinforced, 4"	64	SY	\$63.98	\$4,094.72
0530 3 4	Riprap, Rubble, F&I, Ditch Lining	39	TN	\$107.26	\$4,183.14
0546 71	Rumble Strips	8	PS	\$485.00	\$3,880.00
0570 1 1	Performance Turf	130,466	SY	\$0.30	\$39,139.80
0570 1 2	Performance Turf, Sod	39,481	SY	\$1.80	\$71,065.80
0700 1 11	Single Post Sign, F&I Ground Mount, Up To 12 SF	18	AS	\$404.33	\$7,277.94
0700 1 50	Single Post Sign, Relocate	5	AS	\$28.88	\$144.40
0706 3	Retro-Reflective Pavement Markers	496	EA	\$4.31	\$2,137.76
709 90	Painted Pavement Markings, Final Surface	1	LS	\$19,400.00	\$19,400.00
999999901	Ditch Block	1	EA	\$760.03	\$760.03
<b>GRAND TOTAL</b>					<b>\$2,369,405.20</b>

CONTRACTOR SIGNATURE: \_\_\_\_\_



**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS**  
**COLUMBIA COUNTY PROJECT NUMBER 2017-5**  
**SW OLD WIRE ROAD – Roadway Construction**

SW Old Wire Road						
Pay Item No.	Pay Item Description	Quantity	Units	Unit Price	Total Cost	
0101 1	Mobilization	1	LS	133,000.00	133,000.00	
0102 1	Maintenance of Traffic	1	LS	103,000.00	103,000.00	
0104 10 3	Sediment Barrier	17,364	LF	2.00	34,728.00	
0104 18	Inlet Protection System	5	EA	380.00	1,900.00	
0110 1 1	Clearing & Grubbing	27	AC	3,336.19	90,077.00	
0120 4	Subsoil Excavation	7,921	CY	15.00	118,815.00	
0120 6	Embankment	21,513	CY	3.00	64,539.00	
0120 71	Regular Excavation (3-R Projects Only)	1	LS	139,900.00	139,900.00	
0160 1	Commercial Stabilizing Material	4,292	CY	10.00	42,920.00	
0160 4	Stabilizing Roadway and Shoulder	77,200	SY	1.00	77,200.00	
285704	Optional Base, Base Group 04	48,981	SY	8.00	391,848.00	
0286 1	Turnout Construction	4,661	SY	16.00	75,576.00	
0334 1 12	Superpave Asphaltic Conc, Traffic B	7,008	TN	103.00	721,824.00	
400 1 2	Concrete Class I, Endwalls	2	CY	3,500.00	7,000.00	
0425 1521	Inlets, DT Bot, Type C, <10'	5	EA	3,900.00	19,500.00	
0430174118	Pipe Culvert, Optional Material, Round, 18" SD	2,200	LF	40.00	88,000.00	
0430175118	Pipe Culvert, Concrete, Round, 18"S/CD	818	LF	55.00	44,990.00	
0430175124	Pipe Culvert Concrete, Round, 24"S/CD	512	LF	55.00	28,160.00	
430982125	Mitered End Section, Concrete, Round, 18" CD	18	EA	690.00	12,420.00	
0430982129	Mitered End Section, Concrete, Round, 24" CD	16	EA	790.00	12,640.00	
0430984125	Mitered End Section, Optional Round, 18" SD	96	EA	690.00	66,240.00	
430991	Mitered End Sec, Replace Slab	1	EA	700.00	700.00	
0524 2 2	Concrete Slope Pavement, Non reinforced, 4"	64	SY	119.00	7,600.00	
0530 3 4	Riprap, Rubble, F&I, Ditch Lining	39	TN	100.00	3,900.00	
0546 71	Rumble Strips	8	PS	1,800.00	14,400.00	
0570 1 1	Performance Turf	130,466	SY	.33	43,053.00	
0570 1 2	Performance Turf, Sod	39,481	SY	1.95	76,988.00	
0700 1 11	Single Post Sign, F&I Ground Mount, Up To 12 SF	18	AS	300.00	5,400.00	
0700 1 50	Single Post Sign, Relocate	5	AS	150.00	750.00	
0706 3	Retro-Reflective Pavement Markers	496	EA	4.50	2,232.00	
709 90	Painted Pavement Markings, Final Surface	1	LS	23,000.00	23,000.00	
999999901	Ditch Block	1	EA	1,000.00	1,000.00	
GRAND TOTAL				\$2,453,300.00		

CONTRACTOR SIGNATURE: \_\_\_\_\_

*James F. Boone*  
 CA Boone Construction

**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS**  
**COLUMBIA COUNTY PROJECT NUMBER 2017-5**  
**SW OLD WIRE ROAD – Roadway Construction**

SW Old Wire Road					
Pay Item No.	Pay Item Description	Quantity	Units	Unit Price	Total Cost
0101 1	Mobilization	1	LS	121,930.00	121,930.00
0102 1	Maintenance of Traffic	1	LS	87,435.00	87,435.00
0104 10 3	Sediment Barrier	17,364	LF	1.00	17,364.00
0104 18	Inlet Protection System	5	EA	176.00	880.00
0110 1 1	Clearing & Grubbing	27	AC	3,795.00	102,465.00
0120 4	Subsoil Excavation	7,921	CY	5.35	42,377.35
0120 6	Embankment	21,513	CY	4.30	92,505.90
0120 71	Regular Excavation (3-R Projects Only)	1	LS	381,733.00	381,733.00
0160 1	Commercial Stabilizing Material	4,292	CY	18.65	80,045.80
0160 4	Stabilizing Roadway and Shoulder	77,200	SY	1.25	96,500.00
285704	Optional Base, Base Group 04	48,981	SY	6.95	340,417.95
0286 1	Turnout Construction	4,661	SY	29.90	139,363.90
0334 1 12	Superpave Asphaltic Conc, Traffic B	7,008	TN	87.45	612,849.60
400 1 2	Concrete Class I, Endwalls	2	CY	880.00	1,760.00
0425 1521	Inlets, DT Bot, Type C, <10'	5	EA	4,030.00	20,150.00
0430174118	Pipe Culvert, Optional Material, Round, 18" SD	2,200	LF	44.20	97,240.00
0430175118	Pipe Culvert, Concrete, Round, 18"S/CD	818	LF	56.40	46,135.20
0430175124	Pipe Culvert Concrete, Round, 24"S/CD	512	LF	69.00	35,328.00
430982125	Mitered End Section, Concrete, Round, 18" CD	18	EA	942.00	16,956.00
0430982129	Mitered End Section, Concrete, Round, 24" CD	16	EA	1,146.00	18,336.00
0430984125	Mitered End Section, Optional Round, 18" SD	96	EA	740.00	71,040.00
430991	Mitered End Sec, Replace Slab	1	EA	425.00	425.00
0524 2 2	Concrete Slope Pavement, Non reinforced, 4"	64	SY	82.35	5,270.40
0530 3 4	Riprap, Rubble, F&I, Ditch Lining	39	TN	179.75	7,010.25
0546 71	Rumble Strips	8	PS	487.60	3,900.80
0570 1 1	Performance Turf	130,466	SY	.21	27,397.86
0570 1 2	Performance Turf, Sod	39,481	SY	1.84	72,645.04
0700 1 11	Single Post Sign, F&I Ground Mount, Up To 12 SF	18	AS	352.15	6,338.70
0700 1 50	Single Post Sign, Relocate	5	AS	48.75	243.75
0706 3	Retro-Reflective Pavement Markers	496	EA	4.33	2,147.68
709 90	Painted Pavement Markings, Final Surface	1	LS	19,502.00	19,502.00
999999901	Ditch Block	1	EA	615.00	615.00

GRAND TOTAL    \$ 2,568,309.18

CONTRACTOR SIGNATURE: *Dana Haynes*